Math 115 Spring 2018 Lecture 29

$$? a^{2} + b^{2} = c^{2}$$
?
 $y = m_{X} + b d = rt$

① Simplify:
$$\frac{4x^2-9}{2x^2-5x-3} = \frac{(2x+3)(2x-3)}{(2x+1)(x-3)}$$

Non-reducable

② Find all excluded Values: $\frac{3x+5}{2x^2+5x-12}$

Deno. = 0, Solve

 $2x^2+5x-12=0$
 $0x^2+5x+12=0$
 $0x^2+5x+12=0$
 $0=2$
 $0=2$
 $0=5$
 $0=5$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$
 $0=6$

1) Simplify:
$$\frac{2x+1}{x^2+5x}$$
 : $\frac{6x^2-x-2}{x^3-25x}$

= $\frac{2x+1}{x(x+5)}$: $\frac{x(x^2-25)}{6x^2-x-2}$: $\frac{2x+1}{x(x+5)}$: $\frac{x(x+5)(x+5)}{(x+5)}$: $\frac{x(x+5)(x+5)}{(x+5)}$: $\frac{x(x+5)(x+5)}{(x+5)}$: $\frac{x(x+5)(x+5)}{(x+5)}$: $\frac{x(x+5)(x+5)}{(x+5)}$: $\frac{x(x+5)(x+5)}{(x+5)}$: $\frac{x(x+5)(x+5)}{(x+6)(x-2)}$: $\frac{x(x+6)(x-2)}{x(x+6)(x-2)}$: $\frac{x(x+6)(x-2)}{x(x+6)(x-2)}$: $\frac{x(x+6)(x-2)}{(x+6)(x-2)}$: $\frac{x(x+6)(x-2)}{(x+6)(x-2)}$

Simplify:
$$\frac{5}{x} - 1$$
 $\frac{5-x}{2x} = \frac{2x \cdot \frac{5}{x} - 2x \cdot 1}{2x}$ $\frac{5-x}{2x} = \frac{10 - 2x}{2x} = \frac{2(5-x)}{5-x}$ $\frac{10 - 2x}{5-x} = \frac{2(5-x)}{5-x}$ Solve: $\frac{2}{x} - \frac{x}{x+3} = \frac{1}{x+3} = \frac{2}{x+3}$ $\frac{2(x+3) \cdot \frac{2}{x} - x(x+3) \cdot \frac{x}{x+3}}{x+3} = \frac{x(x+3) \cdot \frac{1}{x+3}}{x+3}$ $\frac{2(x+3) \cdot \frac{2}{x} - x(x+3) \cdot \frac{x}{x+3}}{2x+3} = \frac{x(x+3) \cdot \frac{1}{x+3}}{2x+3}$ $\frac{2(x+3) - x^2 = x}{2x+6-x^2-x=0}$ $\frac{x+3}{2x+6-x^2-x=0}$ $\frac{x^2-x-6=0}{2x+6-x^2-x=0}$ $\frac{x^2-x-6=0}{2x-3=0}$ $\frac{x+2=0}{x-3=0}$ $\frac{x+2=0}{x-3=0}$ $\frac{x+2=0}{x-3=0}$ $\frac{x+2=0}{x-3=0}$ $\frac{x+2=0}{x-3=0}$ $\frac{x+2=0}{x-3=0}$ $\frac{x+2=0}{x-3=0}$

Simplify
$$\frac{\chi - \frac{q}{\chi}}{1 + \frac{3}{\chi}} = \frac{\chi \cdot \chi - \chi \cdot \frac{q}{\chi}}{\chi \cdot 1 + \chi \cdot \frac{3}{\chi}}$$
 $\begin{array}{c} \chi - 3 \\ \chi - 3 \end{array} = \frac{\chi^2 - q}{\chi + 3}$

Solve: $\frac{3}{\chi - 2} + \frac{1}{\chi - 1} = \frac{1}{\chi^2 - 3\chi + 2}$

LCD: $(\chi - 2)(\chi - 1)$ E.V. $2 = 1$
 $3(\chi - 1) + 1(\chi - 2) = 1$
 $3\chi - 3 + \chi - 2 = 1$
 $4\chi - 5 = 1$
 $\begin{cases} 3 \\ 3 \end{cases}$

Simplify:
$$\frac{4}{\chi^{2}-4\chi+4} - \frac{3}{\chi-2}$$

= $\frac{4}{(\chi-2)(\chi-2)} - \frac{3(\chi-2)}{(\chi-2)(\chi-2)} = \frac{4-3(\chi-2)}{(\chi-2)^{2}}$

= $\frac{4-3\chi+6}{(\chi-2)^{2}} = \frac{10-3\chi}{(\chi-2)^{2}}$

Simplify: $\frac{\chi^{-2}-y^{-2}}{\chi^{-1}-y^{-1}}$

Hint: $\chi^{-1} = \frac{1}{\chi^{-1}}$

= $\frac{\frac{1}{\chi^{2}} - \frac{1}{y^{2}}}{\frac{1}{\chi} - \frac{1}{y^{2}}} = \frac{\chi^{2}y^{2} \cdot \frac{1}{\chi}}{\chi^{2}y^{2} - \chi^{2}y} = \frac{\chi^{2}y^{2} \cdot \frac{1}{y^{2}}}{\chi^{2}(\chi-\chi)} = \frac{\chi^{2}y^{2} \cdot \frac{1}{\chi}}{\chi^{2}(\chi-\chi)} = \frac{\chi^{2}y^{2} \cdot \frac{1}{\chi}}{\chi^{2$

Cross-multiply & solve
$$\frac{2x-3}{4} = \frac{4}{2x+3}$$

$$(2x-3)(2x+3) = 4.4$$

$$4x^{2} - 9 = 16$$

$$4x^{2} - 9 - 16 = 0$$

$$4x^{2} - 25 = 0$$

$$4x^{2} - 25 = 0$$
Solve by Q-formula:
$$0 = 4 \quad b = 0 \quad c = -25$$

$$b^{2} - 4ac = 0^{2} - 4(4)(-25) = 400$$

$$x = \frac{-b \pm \sqrt{b^{2} - 4ac}}{2a} = \frac{-0 \pm \sqrt{400}}{2(4)} = \frac{0 \pm 20}{8} = \frac{\pm 20}{82}$$

Solve
$$\frac{\chi}{\chi-3} + \frac{4}{\chi+3} = \frac{18}{\chi^2-9}$$

LCD= $(\chi-3)(\chi+3)$, E.N. ± 3
 $\chi(\chi+3) + 4(\chi-3) = 18$
 $\chi^2 + 3\chi + 4\chi - 12 - 18 = 0$
 $\chi^2 + 7\chi - 30 = 0$

① Solve by Factoring: $(\chi+10)(\chi-3) = 0$
 $\chi=-10$

② Solve by Q-Formula:

 $\alpha=1$, $b=7$, $C=-30$
 $\lambda=\frac{-b\pm\sqrt{b^2-4\alpha}c}{2\alpha}$
 $\lambda=\frac{-1\pm\sqrt{169}}{2}$
 $\lambda=\frac{-1\pm\sqrt{169}}{2}$

Class Q7:

(1) Simplify:
$$\frac{4\chi^2 - 25}{4\chi^2 + 20\chi + 25}$$

② Solve by Q-formula: $3x^2-5x+2=0$

Work Problems

Amount of How long How fast

work = You You

Completed Work Work

Time Rate

Amount of = t.t

Work

$$\frac{1}{3}$$
 $\frac{1}{3}$ $\frac{1}{3}$ $\frac{1}{3}$ Ahrs to paint this wall

Rate $\frac{1}{3}$ /hr.

8:00 9:00 10:00 11:00

4 hrs to Paint the

Same Wall

8:00 9:00 10:00 11:00 12:00 Rate $\frac{1}{4}$ /hr.

How long does it take to paint the wall working together?

Work work one by the by the complete work

Rate Time Rate Time

$$\frac{1}{3} \cdot t + \frac{1}{4} \cdot t = 1$$

LCD=12

How long does it take to paint the wall

The wall

 $\frac{1}{4} \cdot t = 1$
 $\frac{1}{4} \cdot t = 1$

```
Pipe A Can fill up an empty Pool in 8 hrs alone.

Pipe B can do the Same thing in 10 hrs alone.

How long does it take to fill up the pool if both pipes are used together?

work work one by the pipe B work

Pate Pipe A Pipe B work

\frac{1}{8} the \frac{1}{10} the \frac{1}{9} the \frac{1}{
```

```
Favret can Sill up an empty sink in 6 minutes.

If the sink is Sull and drain is open,

It takes 10 minutes to empty the sink.

Assume sink is empty, drain is lest open,

How long does it take to sill up the sink?

Work work one

by — by = complete

Sauret Drain work

LCD = 30

5t - 3t = 30

LSD = 30

15 minutes
```

John and Maria can paint a room together in 4 hrs.

John can paint alone in 7 hrs.

How long does it take Maria to paint the room alone?

Work work one by + by = complete

John Maria work $\frac{1}{7} \cdot 4 + \frac{1}{2} \cdot 4 = 1$

It takes John 9 hrs longer than Maria to do a certain job.

They can finish the job in 6 hrs working to gether. How long is they work alone?

Maria $\rightarrow x$ hrs $\rightarrow \frac{1}{x}$ John $\rightarrow x+9$ hrs $\rightarrow \frac{1}{x+9}$ work work one by to by = complete

Maria John work $\frac{1}{x} \cdot 6 + \frac{1}{x+9} \cdot 6 = 1$ LCD: x(x+9) $\frac{6}{x} + \frac{6}{x+9} = 1$ 6(x+9) + 6x = x(x+9) $6x + 54 + 6x = x^2 + 9x$ $6x + 54 + 6x = x^2 + 9x$ Maria $\Rightarrow 9$ hrs

John $\Rightarrow 18$ hrs